

**Page:** 1 of 4

## **UNT Health Science Center**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		<b>Dispatch Via Print</b>
Purchase Order	Date	Revision
HS763-HS00006954	01-21-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	du

Supplier: 0000031787 Wilson Bauhaus Interiors LLC 2343 Walnut Hill Ln Dallas TX 75229-4420 United States Ship To: This is not a valid Purchase Order.
This document is reproduced for reporting purposes only.

Attention: James Calaway

Bill To: UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste.

4200 Denton T

Denton TX 76205 United States

Tax Exem	nnt?	Tax Exempt ID:			Panlanishmant	Ontion: Standard	
Line- Sch	Item/Description	Mfg ID	Quantity	UO	-	Option: Standard Extended Amt	Due Date
1 - 1	Proposal 9547 - DARRAN - 9W x 9D x 55H 120 Corner Panel Connector, Two Corne Panel GRA-3:Grade 3 Upholstery :Momentum Textiles - Feltro Steel WFO:Fawn Cypress Mark Line For: Tag L1: AD.03	r	20.00	EA	311.96	6239.20	01/24/2025
					Schedule Total	6239.20	
2 - 1	34W x 3D x 50H 120 Adder Access Panel, Single Sided Access GRA-3:Grade 3 Upholstery :Momentum Textiles - Feltro Steel Mark Line For:		18.00	EA	571.12	10280.16	01/24/2025
	Tag L1: AD.03						
					Schedule Total	10280.16	
3 - 1	60" x 17" 24" PET Privacy Screen 3: Light Gray Mark Line For: Tag L1: AD.03		16.00	EA	372.68	5962.88	01/24/2025
					Schedule Total	5962.88	
4 - 1	8W x 8D x 55H 120 Corner Panel Connector, Three Corner Panel GRA-3: Grade 3 Upholstery: Momentum Textiles - Feltro Steel WFO:Faw Cypress Mark Line		16.00	EA	393.36	6293.76	01/24/2025



Page: 2 of 4

## **UNT Health Science Center**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
HS763-HS00006954	01-21-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	lu

Supplier: 0000031787 Wilson Bauhaus Interiors LLC 2343 Walnut Hill Ln Dallas TX 75229-4420 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: James Calaway Bill To:

UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exem		Tax Exempt ID:	Overtity	UOI		Option: Standard Extended Amt	Due Date
Sch	Item/Description	Mfg ID	Quantity	UUI	vi PO Price	Extended Amt	Due Date
	For: Tag L1: AD.03						
					Schedule Total	6293.76	
5 - 1	72W x 26D x 1H, 120 Worksurface Top w/ Height Adj HPL Worksu LW02:Fawn Cypress CLIFF-1:"W" 3mm Hardwood Band/ "G" Matching PVC Band MFGW:Gray White Finish Mark Line For Tag L1: AD.03		16.00	EA	1636.36	26181.76	01/24/2025
					Schedule Total	26181.76	
6 - 1	192" Hardwired Power Feed Mark Line For: Tag L1: AD.03		2.00	EA	154.00 Schedule Total	308.00	01/24/2025
7 - 1	96" Length jumper, passes through 1 adder panel connecting 3 Mark Line For: Tag L1: AD 03		10.00	EA	94.60	946.00	01/24/2025
					Schedule Total	946.00	
8 - 1	150" Length jumper passes through 2 adder panels connecting Mark Line		4.00	EA	127.60	510.40	01/24/2025



**Page:** 3 of 4

## **UNT Health Science Center**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
HS763-HS00006954	01-21-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	lu

Supplier: 0000031787 Wilson Bauhaus Interiors LLC 2343 Walnut Hill Ln Dallas TX 75229-4420 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: James Calaway

Bill To: UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exem Line- Sch	pt? Item/Description	Tax Exempt ID: Replenishr Mfg ID Quantity UOM PO Pr				nt Option: Standard Extended Amt Due Date	
	For: Tag L1: AD.03						
					Schedule Total	510.40	
9 - 1	34W x 3D x 50H Singl Sided Power Panel GRA-3:Grade 3	e	16.00	EA	634.04	10144.64	01/24/2025
	Upholstery :Momentum Textiles - Feltro Steel ~:No Power ~:N Selection of Telecom Plate Mark Line For: Tag L1: AD.03	0					
					Schedule Total	10144.64	
10 - 1	35W x 3D x 55H 120 Starter Panel Flat End GRA-3:Grade 3 Upholstery :Momentum Textiles - Feltro Steel WFO:Fawn Cypress ~:No Power Mark Line For: Tag L1: AD.03		20.00	EA	530.20	10604.00	01/24/2025
					Schedule Total	10604.00	
11 - 1	5W x 2D x 6H Concealed Floor Powe Infeed Cover, Power Cable MFGW:Gray Whit Finish Mark Line For Tag L1: AD.03	e	2.00	EA	87.56	175.12	01/24/2025
					Schedule Total	175.12	



**Page:** 4 of 4

## **UNT Health Science Center**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
HS763-HS00006954	01-21-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	lu

Supplier: 0000031787 Wilson Bauhaus Interiors LLC 2343 Walnut Hill Ln Dallas TX 75229-4420 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: James Calaway Bill To:

UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exem Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UO		Option: Standard Extended Amt	Due Date
12 - 1	62W x 29.25D x 63H Shell - Double Seat Low Back - Side Scre NOTE:Combination Fabrics of Different Grades (+5%) A&B:CF Stinson - Charlotte Lagoon (Grade 5) C:C Stinson - Artisan Marled 65066 (Grade 4) D:CF Stinson - Modena 2.0 Terra Di Siena (Grade 9) G		4.00	EA	5138.32	20553.28	01/24/2025
					Schedule Total	20553.28	
13 - 1	Delivery & Installation		1.00	EA	2749.00	2749.00	01/24/2025
					Schedule Total	2749.00	
					Total PO Amount	100948.20	